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OTA URARM TSA TI (real national income)aGe aDi 557 

1. tAAW TRTAI4 (Marshall's Cash Balance equation)3 

M=KY + K'A 

TM=D TTN AIT (Total Supply of money), o AINÍE 255 AR 

Y sSN (Money income) 
K TT GRURIz1T TA T AT (form of Cash) 
A = ATA T T (money value of assets or wealth) 

M = KY ... .. (i) 

Y P.O.. .. (ii) 
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M KPO 
, P M/KO . ii) 
I, K =0.10, O=10000 (Cad REltE) T M = 8000 1, (TORI afUcbi aR 

P M/KO 8000/0.10 x 10000 

8000/1000 8 t 

P=M/K, =8000/0.15x10000 8000/1500 16/3 b = 5.33 

P-M/KO = 8000/0.08x10000=8000/800 10P 
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Fig.-3.C 



2.0 e t (Pigou's equation) 

1/P=KR/M 

T P=FEN (Price level) T 1/P, PI AOT (Purchasing power) 

R=FE TH (Real total income) 

K=JeR 77 1 R5TT TRI 2F0 
(Proportion ofreal income held in 

cash form) 
oL Cunnly) 
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